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Assumption: Bit values change from 0 to 1

Data Generation_1 Generation_2

00 000 111

01 100 011

10 010 101

11 001 110

Data Word
K = 2

Code word
N=3

1 0 0 0 1 1 0

01     10 01     10



Bit constraint Affects Scalability as Flash gets denser

data Gen_1 Gen_2 Gen_3

00 0000 1000 1111

01 0100 1100 1011

10 0010 1010 1101

11 0001 1001 1110



0000
0001
0010
0010
0100
0101
0110
0111
1000
1001
1010
1011
1100
1101
1110
1111

GEN 1

GEN 2

GEN 3

GEN 4

00
01
10
11
00
01
10
11
00
01
10
11
00
01
10
11

01     10

0001

0110



0000
0001
0010
0010
0100
0101
0110
0111

GEN 1

GEN 2

00
01
10
11
00
01
10
11

0000
0001
0010
0010
0100
0101
0110
0111

GEN 1

GEN 2

00
01
10
11
11
00
01
10

0000
0001
0010
0010
0100
0101

GEN 1

GEN 2

00
01
10
11
00
01
10 0110

111111

0110
0111
1000
1001
1010
1011
1100
1101
1110

GEN 3

GEN 4

11
00
01
10
11
00
01
10 GEN 51 Additional  Write Cycle before Erase!



0000
0001
0010
0010
0100
0101

GEN 1

000
001
010
011
100
101
110 0110

1111111

0110
0111
1000
1001
1010
1011

1101
1110

GEN 2

111
000
001
010
011
100
101
110

1100

0000
0001
0010
0010
0100
0101

GEN 1
GEN 2

0
1
0
1
0
1
0 0110

11111

0110
0111
1000
1001
1010
1011
1100
1101
1110

GEN 3
GEN 4

1
0
1
0
1
0
1
0

GEN 5
GEN 6
GEN 7
GEN 8
GEN 9
GEN 10
GEN 11
GEN 12
GEN 13
GEN 14
GEN 15

0000
0001
0010
0010
0100
0101

GEN 1

GEN 2

00
01
10
11
00
01
10 0110

111111

0110
0111
1000
1001
1010
1011
1100
1101
1110

GEN 3

GEN 4

11
00
01
10
11
00
01
10 GEN 5









0000
0001
0010
0010
0100
0101

GEN 1

GEN 2

00
01
10
11
00
01
10 0110

111111

0110
0111
1000
1001
1010
1011
1100
1101
1110

GEN 3

GEN 4

11
00
01
10
11
00
01
10 GEN 5

01     10







•
•
•
•





•
•
•
•
•






